Questions

Is "non-" a prefix or a suffix?
a) prefix b) suffix

A suffix goes of a word.

a) at the beginning b) at the end
c) in the middle d) None of these

What does the word "misplace" mean?

a) full of place b) place again

c) to put in the wrong place d) in a placed way

The root word in ‘replacement’ is

a) replace b) placement c) replacement d) place

L2 |{CO3

What is the PREFIX in PREVIEW?
a) pre b) view c) vie d) prev

E2 €SS

The word “-ology’ is a suffix, which means
a)color  b)studyof c)between d) destruction of

L2 |{CO3

The plural form of ‘Elf” is

a) elfs b) eles c) elves d) none of these

Ll |CO3

The plural form of the compound noun ‘Son-in-law” is

la) Son-in-laws b) Sons-in-laws

c) Son-in-law d) Sons-in-law

B €03

Select the word from the following with an affix.
a) Chocolate b) Paper c) Money d) Unicorn
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I haven't seen him in five years.
a)a b) an c) the d) no article

L3 |COl

11

Select the correctly stressed word (The stressed syllable is given in uppercase
letters) - [ want to be a photographer.

a) PHO-to-graph-er b) pho-to-GRAPH-er
c) pho-to-graph-ER d) pho-TO-graph-er

L3 | CO2

Select the correctly stressed word (The stressed syllable is given in uppercase
letters) ;

12 |Couldn't you understand what she was saying? L3 | C02
a) UN-der-stand b) un-DER-stand
c) un-der-STAND d) None of these

13

Select the correctly stressed word (The stressed syllable is given in uppercase
letters)

[ can't decide which book to borrow.

a) DE-cide b) de-CIDE

L3 (€02
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|He broke the Olympic record.
_|[a) RE-cord b) re-CORD
IChoose the correct spelt word: e
| 15 [a) Adviseable b) Adviesable L1 i
/ c) Advisible d) Advisable '
‘ Choose the correct spelt word:
| 16 la) acomodate b) accomodate L1 CO3
; c) accommodate d) acommodate
k- Choose the correct spelt word:
5 17 |a) Refriderator b) Refrigerator L1 | CO3
5 c) Refridgerator d) Referigerator
Give one word for -
18 |A hater of women. L2 | CO3
a) Misogynist b) Bibliophile c) Philologist d) Monologist
Give one word for -
19 [Killing of one’s brother. L2 | CO3
a) Fratricide b)Homicide c) Regicide d) Suicide
Give one word for - :
20 |One who eats everything. : L2 | CO3
___a) Omnivorous b) Omniscient c) Irresistible d) Insolvent
1 It is not possible to complete the work we work hard. L2 | co1
a) unless b) in case c) as long as d) so long as
2 Travelling by flight is really experience to be remembered. 12 | co1
a) a b) an c) the d) no article
Add Question Tag -
23 We often watch TV in the afte'rnc?on, 13 o
a) wasn't we? b) isn't we?
c) don't we? d) weren't we?
24 As [ approached him, he turned and walked away.
a) to b) by c) beside d) no preposition required L3 |co1
Add Question Tag -
25 Clean the house, 13 |col
a) haven't you? b) shan't you?
c) isn't you? d) won't you?
Add Question Tag -
He could have bought a new car,
28 a) haven't he? b) isn't he? LEACOR
c) couldn't he? d) None of these
27 |Add Question Tag -
I'm clever,
a) amn't [ b) aren't [? c) can't [? d) shouldn't [?
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- many beautiful lakes in Udaipur, ____

- [) arethere? b) weren’t there?
: [c) aren’t there? d) isn’t there?
[ 31 Choose the antonym for the word - Abundant
a) wrong  b) accidental c) wide d) scarce
3 Choose the antonym for the word - baffle:
a) confuse  b) puzzle c) clear d) curious
33 [Choose the antonym for the word - Hostile
a) Innocent  b) Friendly c) Lazy d) Crazy
Choose the synonym for the word - Mendacity
34 a) Untruthfulness b) Insolence
c) Risk taking nature or recklessness d) Susceptibility
35 Choose the synonym for the word - Tranquil :
a) calm b) storm c) bold d) loud
She's collecting shells. -
36 [The contracted underlined word means :
a) She has b) She is c) She does  d) None of these
] He'd not have bought a new car.
37 [The contracted underlined word means ___ : .
a) Hehad  b) He did c) He would d) None of thes
38 8 o’clock — In this, 0’ is the contracted formof
a) Over b) On c) Or d) Of
39 The contracted form of ‘[ am’ is : L2 |col
a) [am b) I'am c)I'm  d) None of these
The full form of the word - GOOGLEis
a) God Organiz$tion of Oriented Group Language of Earth
40 |b) Global Organization of Oriented Group Language of Earth Ll./€CO3
c) Global Organiization of Oriented Group Land of Earth
d) None of these
The abbreviation for - 'National Aeronautics and Space Administration' is :
41 : L1 |CO3|
~ |a) NASA h) NAASA c) NATSA d) None of these
42 |All of the following are Minimal pair words except L3 |CO3
‘la) Reach : Rich ' b) Cut : Put
) Three: Tree d) Red : Read




AR . 101
4 (s R d .
ik NS ——— e s

e arape e

B

R AP R )

[ Tiwon'the going to bed late tonight (identify the tense)
- | 43 l) Future Continuous Tense

ST

: b) Simple Future Tense
c) Past Continuous Tense d) Simple Past Tense P
The customer had been waiting for an hour by the time the manager got to the
44 [Pank. (Identify the tense)
a) Simple Past Tense b) Past Perfect Continuous Tense |
c) Past Perfect Tense d) Past Continuous Tense
Chess requires a very high level of concentration. (Identify the tense) . |
45 la) Simple Present Tense b) Present Perfect Tense L2 |COl
c) Present Continuous Tense d) Present Perfect Continuous Tense
46 Every language does not have an accent. L1 |co2
a) True b) False
47 Always start a presentation with a remark. L2 |coa
a) Forgettable b) Unemphatic c) Catchy d) Effortless :
Public Speaking includes |
48 |a) Planning b) Verbal Activity L2 |CO4
c) Non-Verbal Activity d) All of these
From the given factors, which one may not be effective to neutralize Mother
Tongue Influence?
I a) Listen to English music | s
b) Use English language for communication
c) Watch English movies dubbed in mother language
_d) Read loud English articles
50 The correct pronunciation of the word — PICKED’ is L1 |cos
|a) /pikd/ b) /piket/ c) /piked/ d) /pikt/
. o\
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